‘ ?/4\% g ‘ ; Lnuadlauaaudin& (Laudiideay )
fa:_ wd:_ mzwuu
(3D = (1) +8=

sV —1= (-5)" = (~10) =

(—1)* +10 = (—5)° +8=

(- +5= 9 —(~8) =

9D 4= 4D — (=3 =

(-2)+(-9) = 9’ +(-3) =

72+ (—9) = 50-3=

(—5)2 + (~10) = -2)V +10=

20D 4 (—6) = 7V +10=

(-9)° —3= 6> — (—4) =
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(3 D=5 =(15)

4
5(—1)_1:__

(=3)
(—1)*+10=11
(-1)+5=4

487 1
(_2)+ - _ = A
’ TR

(=2)+ (9= (1D

440

1249 = (55

48
)=(855)
(=5)* + (-10) = 15

- 11 1
20+ (=6) = (—5) = (-53)

(-9)° —=3="78
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-1’ +8=9

(=5)° = (-10) = 11
(=5)* +8 =33
92 — (—8) = 89
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AV = (3)=7 =3
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9 +(-3)=(-2)

50 -3=(-2)
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2) D +10=— =
(—2) 0 > 9
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7 +10=

— =9
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6" — (—4) = 40
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